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CHAPTER 8

Accounting for Receivables

ASSIGNMENT CLASSIFICATION TABLE

	Study Objectives
	Questions
	Brief Exercises

	Exercises
	Problems

Set A
	Problems

Set B

	1. Record accounts receivable transactions.


	1, 2, 3, 4
	1, 2, 3, 4
	1, 2, 3 
	1, 2, 7, 9
	1, 2, 7, 9

	2. Calculate the net realizable value of accounts receivable and account for bad debts.

	5, 6, 7, 8, 9, 10, 11, 12, 13 
	5, 6, 7, 8, 9
	4, 5, 6, 10
	1, 2, 3, 4, 5, 6, 7, 8
	1, 2, 3, 4, 5, 6, 7, 8

	3. Account for notes receivable.
	14, 15, 16, 17 
	10, 11, 12, 13
	7, 8, 9
	8, 9
	8, 9

	4. Demonstrate the presentation, analysis, and management of receivables.

	18, 19, 20, 21, 22
	13, 14, 15
	3, 9, 10, 11, 12
	7, 9, 10, 11, 12
	7, 9, 10, 11, 12


ASSIGNMENT CHARACTERISTICS TABLE

	Problem Number
	Description
	Difficulty Level
	Time

Allotted (min.)



	1A
	Record accounts receivable and bad debts transactions.
	Simple
	20-30

	2A
	Record accounts receivable and bad debts transactions.
	Moderate
	35-45

	3A
	Calculate bad debt amounts and answer questions.

	Moderate
	15-25

	4A
	Prepare aging schedule and record bad debts.

	Moderate
	20-30

	5A
	Prepare aging schedule and record bad debts.

	Moderate
	15-25

	6A
	Determine missing amounts.


	Complex
	15-25

	7A
	Record accounts receivable and bad debts transactions; discuss statement presentation.
	Moderate
	30-35

	8A
	Record receivables transactions.

	Moderate
	35-45

	9A
	Record receivable transactions. Show balance sheet presentation.
	Moderate
	35-45

	10A
	Prepare assets section of balance sheet; calculate and interpret ratios.
	Moderate
	20-30

	11A
	Calculate and interpret ratios.


	Moderate
	15-25

	12A
	Evaluate liquidity.


	Moderate
	15-25

	1B
	Record accounts receivable and bad debts transactions.
	Simple
	20-30

	2B
	Record accounts receivable and bad debts transactions.
	Moderate
	35-45

	3B
	Calculate bad debt amounts and answer questions.

	Moderate
	15-25

	4B
	Prepare aging schedule and record bad debts.

	Moderate
	20-30

	5B
	Prepare aging schedule and record bad debts.

	Moderate
	15-25

	6B
	Determine missing amounts.

	Complex
	15-25

	7B
	Record accounts receivable and bad debts transactions; discuss statement presentation.
	Moderate
	30-35

	8B
	Record receivables transactions.

	Moderate
	30-35

	9B
	Record receivable transactions. Show balance sheet presentation.
	Moderate
	35-45

	10B
	Prepare assets section of balance sheet; calculate and interpret ratios.
	Moderate
	20-30

	11B
	Calculate and interpret ratios.


	Moderate
	15-25

	12B
	Evaluate liquidity.


	Moderate
	15-25


BLOOM’S TAXONOMY TABLE

Correlation Chart between Bloom’s Taxonomy, Study Objectives and End-of-Chapter Material

	Study Objective
	Knowledge
	Comprehension
	Application
	Analysis
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	Evaluation

	1. Record accounts receivable transactions.
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	2. Calculate the net realizable value of accounts receivable and account for bad debts.
	Q8-6 
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Q8-12
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	3. Account for notes receivable.
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Q8-16
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	4. Demonstrate the presentation, analysis, and management of receivables.
	Q8-21
	Q8-18

Q8-19

Q8-20

Q8-22

E8-12
	BE8-13

BE8-14

E8-3

E8-9
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ADVANCE \d6

ADVANCE \d3
ANSWERS TO QUESTIONS

01.
The three major types of receivables are as follows:


(1)
Accounts receivable are amounts owed by customers on account. They have resulted from the sale of goods and/or services.

(2)
Notes receivable are claims for which a formal credit instrument has been issued as proof of the debt. The debtor will normally have to pay interest and the term of the note will extend for periods of 30 days or more. 

(3)
Other receivables include interest receivable, loans or advances to employees, and recoverable sales and income taxes. 
02.
Accounts and notes receivable are sometimes called trade receivables because they result from sales transactions and occur in the normal course of business operations.
03. 
(a)
Using an accounts receivable subsidiary ledger makes it possible to determine the balance owed by an individual customer at any point in time. This makes it easier to manage receivables for example, follow up on payments and decide if additional credit should be granted.


(b) The balance in the general ledger control account should agree with the total of the individual accounts in the subsidiary ledger.

4. 
Ashley is not correct. Bank credit card sales are cash sales. When bank credit card sales are made the bank will electronically deposit cash into the retail company’s bank account. Sales on credit cards that are not directly associated with a bank are reported as credit sales, not cash sales.   This occurs because it takes time for the retailer to collect the amounts outstanding from any non bank credit card company.
5.
Rod cannot completely eliminate bad debts for the company even though he performs a credit check on each customer. Reliable customers may suddenly not be able to pay bills because of an unexpected decrease in revenues or an unexpected increase in expenses.
QUESTIONS (Continued)

6.
The essential features of the allowance method of accounting for bad debts are:

(1)
Uncollectible accounts receivable are estimated and recorded at the end of an accounting period, in order to match the bad debts expense against sales in the same accounting period in which the sale occurred. Estimated uncollectibles are debited to Bad Debts Expense and credited to Allowance for Doubtful Accounts through an adjusting entry at the end of each period.

(2)
Actual uncollectibles are debited to Allowance for Doubtful Accounts and credited to Accounts Receivable at the time a specific account is written off.0

(3)
When an account previously written off is later collected, the original write-off is reversed and then the collection is recorded.

7.
The allowance for doubtful accounts is a contra asset account that shows the amount of the receivables that are expected to become uncollectible in the future. It is deducted from receivables to provide proper valuation for accounts receivable. The account will have a debit balance when the actual amount of receivables written off exceeds the estimated amount recorded in the allowance account.

8.
Net realizable value is the difference between Accounts Receivable (normal debit balance) and the Allowance for Doubtful Accounts (normal credit balance). Soo Eng should realize that the decrease in net realizable value occurs when estimated uncollectibles are recognized in an adjusting entry (debit Bad debts expense; credit Allowance for Doubtful Accounts) in the period the sale occured. The write-off of an uncollectible account reduces both accounts receivable and the allowance for doubtful accounts by the same amount. Thus, net realizable value does not change.


Accounts receivable

X


Less: Allowance for doubtful accounts

X

Net realizable value

X
The decision to write-off an account simply identifies which accounts are not going to be collected. 

QUESTIONS (Continued)

9.
The two approaches of estimating uncollectibles under the allowance method are (1) percentage of sales (income statement approach) and (2) percentage of receivables (balance sheet approach). The percentage of sales approach establishes a percentage relationship between the amount of credit sales and expected losses from uncollectible accounts. This method emphasizes the matching of expenses with revenues. Under the percentage of receivables approach, the balance in the allowance for doubtful accounts is derived either (a) by applying a percentage estimate of bad debts to total receivables or (b) from an analysis of individual customer accounts. This method emphasizes net realizable value of accounts receivable.

10.
The percentage of sales approach is called the income statement approach because the calculation and the bad debts expense are based on a percentage of net credit sales; both are amounts that appear on the income statement. The percentage of receivables approach is called the balance sheet approach because the calculation and the required balance in the allowance for doubtful accounts are based on a percentage of outstanding accounts receivable; both are amounts that appear on the balance sheet.
11. 
The accounts debited and credited are the same under both methods. The amounts differ. Under the percentage of sales approach the amount estimated is the bad debts expense and this is the amount of the entry—no reference is made to the existing balance in the allowance. Under the percentage of receivables approach the allowance is estimated and the entry is for the amount estimated adjusted for the existing balance in the allowance account.


The adjusting entry under the percentage of sales approach is:


Bad Debts Expense

4,100



Allowance for Doubtful Accounts


4,100


The adjusting entry under the percentage of receivables approach is:


Bad Debts Expense

2,300



Allowance for Doubtful Accounts ($5,800 – $3,500)


2,300

12.
The bad debts expense reflects only the current year’s estimates while the allowance is a result of estimates and write-offs over many years.

QUESTIONS (Continued)

13.
The first entry is made to reverse the write-off of the account receivable. The second entry records the collection of the account receivable. Although the outcome could be accomplished with one combined entry, it is best to have separate journal entries for the reversal and subsequent collection. By both debiting and crediting accounts receivable the customers subsidiary ledger account will be updated to show reversing the previous write-off and collecting the cash. This will provide more accurate information about the customer in case the customer wants to receive credit again in the future.
14.
Notes and accounts receivable are credit instruments. Both are valued at their net realizable value. Both can be sold to another party. Accounting for the recognition of a note receivable and an account receivable are the same. Accounting for the disposition of a note receivable and an account receivable are the same.
An account receivable is an informal promise to pay, while a note receivable is a written promise to pay. Account receivable results from a credit sale while a note receivable can result from financing a purchase, lending money, or extending an account receivable beyond normal amounts or due dates. An account receivable is usually due in a short period of time (e.g. 30 days) while a note receivable can extend for longer period of time (e.g. 30 days to many years). An account receivable does not incur interest unless the account is overdue. A note usually bears interest for the entire period.
15. 
A company may prefer a note receivable because it gives a stronger legal claim to assets and normally includes interest.

16.
Notes receivable are recorded at their principal value (the value shown on the face of the note) and not the amount that will be paid at maturity because interest has not been earned. Interest is earned as time passes.

Because the note is a formal credit instrument, its recorded value stays the same as its face value. A separate account for interest receivable is used.

17.
A dishonoured note is a note that is not paid in full at maturity. The payee still has a claim against the maker of the note for both the principal and the unpaid interest. If there is hope of collection the payee can transfer the amount owing to an accounts receivable account. If there is no hope of collection, the payee could write-off the note.

QUESTIONS (Continued)

18. 
Each of the major types of receivables should be identified in the balance sheet or in the notes to the financial statements. Short term receivables are reported in the current asset section of the balance sheet, following cash and short term investments. In this case notes receivable due in three months would be disclosed first followed by net accounts receivables (accounts receivable less the allowance for doubtful accounts) and finally other receivables which would include sales taxes recoverable and income taxes receivable. The note receivable due in two years would be included in Other Assets on the Company’s balance sheet.
19.
An increase in the current ratio normally indicates an improvement in short-term liquidity. This may not always be the case because the composition of current assets may vary. For example, increased receivables will result in a higher current asset position, and higher current ratio. However, the increase in receivables may be due to slower collections rather than improved sales. In order to determine if the increase is an improvement in financial health, other ratios that should be considered include: Quick ratio, receivable turnover and collection period; inventory turnover and days sales in inventory ratios.

20.
An increase in the receivables turnover indicates faster collection of receivables and a decrease in the collection period.

21.
The reasons companies sometimes sell their receivables are:

(1)
For competitive reasons, sellers often must provide financing to purchasers of their goods for extended periods. Selling receivables provides a more current source of cash to help finance operations.

(2)
Receivables may be sold because they may be the only reasonable source of cash readily at hand.

(3)
Billing and collection are often time-consuming and costly. As a result, it is often easier for a retailer to sell the receivable to another party who has expertise in billing and collection matters. This will also speed up the collection of cash.

22.
A company, such as Canadian Pacific, may chose to securitize its receivables to accelerate cash receipts from their receivables. The company may have determined that the fees associated with securitizing the receivables are less than the cost of having to use short-term borrowings to finance operations. 
SOLUTIONS TO BRIEF EXERCISES

BRIEF EXERCISE 8-1

(a)
Other receivables

(b)
This is not a receivable. It is unearned revenue.

(c)
Note receivable.
(d)
Accounts receivable.

(e)
Note receivable.

(f)
This is not a receivable. Unearned revenue has now been converted into revenue.

BRIEF EXERCISE 8-2

(a)

July 
1
Accounts Receivable

14,000




Sales


14,000



Cost of Goods Sold

9,000




Inventory


9,000

(b)

July
3
Sales Returns and Allowances

2,400




Accounts Receivable


2,400


Inventory

1,550



Cost of Goods Sold


1,550

(c)

July
10
Cash

11,368


Sales Discount 


[($14,000 - $2,400) x 2%]

232




Accounts Receivable 



[$14,000 - $2,400]


11,600

BRIEF EXERCISE 8-3

(a)

Aug. 
1
Accounts Receivable

20,000




Sales


20,000

(b)

Aug.
5
Sales Returns and Allowances

3,500



Accounts Receivable


3,500
(c)

Sep. 30
Accounts Receivable

289



Interest Revenue 


289


[($20,000 - $3,500) x 21% x 1/12]
(d)

Oct. 4

Cash [$20,000 - $3,500 + $289]

16,789



Accounts Receivable


16,789

BRIEF EXERCISE 8-4

Nonbank credit card:

July 11 
Credit Card Expense [$200 x 3%]

6



Accounts Receivable [$200 - $6]

194




Sales


200

Stewart Department Store Credit Card:

July 11
Accounts Receivable 

200



Sales


200

Visa card:

July 11
Credit Card Expense [$200 x 3%]

6



Cash [$200 - $6]

194




Sales


200

BRIEF EXERCISE 8-5

Apr. 30
Bad Debts Expense 

12,600


[($900,000 - $50,000 - $10,000) x 1.5%]




Allowance for Doubtful Accounts


12,600
BRIEF EXERCISE 8-6
(a)
Dec. 
31
Bad Debts Expense 




[($500,000 x 4%) - $3,000]

17,000





Allowance for Doubtful Accounts

17,000

(b)
Dec. 
31
Bad Debts Expense 




[($500,000 x 4%) + $800]

20,800





Allowance for Doubtful Accounts

20,800

BRIEF EXERCISE 8-7
	Number of Days Outstanding
	Accounts Receivable
	% Estimated Uncollectible
	Estimated Uncollectible Accounts

	0-30 days
	$315,000
	1%
	$  3,150

	31-60 days
	90,000
	4%
	3,600

	61-90 days
	60,000
	10%
	6,000

	Over 90 days
	    35,000
	20%
	    7,000

	Total
	$500,000
	
	$19,750


Dec. 
31
Bad Debts Expense 



[$19,750 - $3,000]

16,750



Allowance for Doubtful Accounts


16,750
BRIEF EXERCISE 8-8
(a)
Jan. 
24
Allowance for Doubtful Accounts
18,000





Accounts Receivable


18,000

(b)


(1) Before
(2) After


Write-Off
Write-Off

Accounts receivable
$680,000
$662,000


Less: Allowance for doubtful


  Accounts
    54,000
    36,000

Net realizable value
$626,000
$626,000
BRIEF EXERCISE 8-9
Mar. 
4
Accounts Receivable

18,000




Allowance for Doubtful Accounts


18,000



Cash

18,000




Accounts Receivable


18,000

BRIEF EXERCISE 8-10

	Note
	(a) Total Interest
	(b) Interest 2007
	(c) Interest 2008

	1.
	$16,000 x 7.5% x 12/12
= $1,200
	$16,000 x 7.5% x 5/12

= $500
	$16,000 x 7.5% x 7/12

= $700

	2.
	$40,000 x 8.25% x 6/12

= $1,650
	$40,000 x 8.25% x 4/12

= $1,100
	$40,000 x 8.25% x 2/12 

= $550

	3.
	$39,000 x 6.75% x 15/12
= $3,291
	$39,000 x 6.75% x 2/12

= $439
	$39,000 x 6.75% x 12/12

= $2,633


BRIEF EXERCISE 8-11

Mar.
31
Accounts Receivable–Opal

12,000




Sales


12,000



Cost of Goods Sold

7,500




Inventory


7,500

May
1
Notes Receivable–Opal

12,000




Accounts Receivable–Opal


12,000

June
 30
Interest Receivable 



[$12,000 x 7% x 2/12]

140



Interest Revenue


140
Oct.
1
Cash

12,350



Interest Receivable


140



Interest Revenue [12,000 x 7% x 3/12]

210



Note Receivable


12,000

BRIEF EXERCISE 8-12

(a)

Apr.
1
Notes Receivable

9,000




Accounts Receivable


9,000

July
1
Cash

9,158




Notes Receivable


9,000




Interest Revenue [$9,000 x 7% x 3/12]

158

(b)

Apr.
1
Notes Receivable

9,000




Accounts Receivable


9,000

July
1
Accounts Receivable

9,158




Notes Receivable


9,000




Interest Revenue [9,000 x 7% x 3/12]

158

(c)

Apr.
1
Notes Receivable

9,000




Accounts Receivable


9,000

July
1
Allowance for Doubtful Accounts

9,000




Notes Receivable


9,000

Note:  The Allowance for doubtful accounts is used assuming Lee Company uses only one allowance account for both accounts and notes receivable.

BRIEF EXERCISE 8-13

(a)

2007

July 1

Notes Receivable

100,000




Cash


100,000

Oct 1

Cash

1,250




Interest Revenue


1,250




($100,000 x 5% x 3/12)

Dec 31

Interest Receivable

1,250




Interest Revenue


1,250




($100,000 x 5% x 3/12)

2008
Jan 1

Cash

1,250




Interest Receivable


1,250

(b)

Included in the current assets section of the balance sheet will be $1,250 of interest receivable.
Included in the other assets section of the balance sheet will be the $100,000 note receivable. 
Included in other revenue on the income statement will be $2,500 ($1,250 + $1,250) of interest revenue.

Included in the notes to the financial statements will be the terms of the note, 5% due on July 1, 2012.

BRIEF EXERCISE 8-14
WAF COMPANY

Balance Sheet (Partial)

November 30, 2008
Assets
Current assets


Cash

$  34,000


Notes receivable

20,000


Accounts receivable

$95,000


Less:  Allowance for doubtful accounts

   2,850
92,150

Other receivables ($1,990 + $995) 


2,985


Merchandise inventory

110,800

Prepaid expenses

    4,950
  4

Total current assets

264,885
BRIEF EXERCISE 8-15
Receivables turnover

$6,462,581 ÷ [($247,014 + 292,462) ÷ 2] = 23.96 times

Collection period

365 days ÷ 23.96 = 15.23 days

The company’s receivables turnover and collection period have improved marginally since the previous year.
SOLUTIONS TO EXERCISES

EXERCISE 8-1

Apr. 
6
Accounts Receivable—Pumphill 

6,500




Sales


6,500



Cost of goods sold

3,200



Inventory


3,200


8
Sales returns and allowances

500



Accounts Receivable—Pumphill


500



Inventory

245



Cost of Goods Sold


245


16
Cash [$6,000 - $120]

5,880


Sales Discounts 



[($6,500-$500) x 2%]

120



Accounts Receivable—Pumphill


6,000


17
Accounts Receivable—EastCo 

5,500




Sales


5,500



Cost of goods sold

2,700



Inventory


2,700


18
Sales returns and allowances

600



Accounts Receivable—EastCo


600

June 17
Accounts Receivable—EastCo


[($5,500 - $600) x 21% x 1/12]

86



Interest Revenue


86


20
Cash ($5,500 - $600 + $86)

4,986



Accounts Receivable—EastCo


4,986
EXERCISE 8-2
(a)
Mar.
2
Accounts Receivable—Noren

570





Sales


570



4
Sales Returns and Allowances

75





Accounts Receivable—Noren


75

ADVANCE \d6

5
Accounts Receivable—Davidson

380





Sales


380



8
Cash

421





Sales


421

ADVANCE \d6

17
Accounts Receivable—Noren

348





Sales


348



28
Accounts Receivable—Smistad

299





Sales


299



29
Cash

100




Accounts Receivable—Davidson


100

EXERCISE 8-2 (Continued)

(b) 

	Elaine Davidson

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Mar. 
5 
Sales 
380 

380


29 
Payment 

100 
280

	Andrew Noren

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Mar. 
2 
Sales 
570 

570


4 
Return 

75 
495


17 
Sales 
348 

843

	Erik Smistad

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Mar. 
28
Sales 
299 

299
EXERCISE 8-2 (Continued)

(b) (Continued)

	General Ledger

Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Mar. 
2 
Sales 
570 

570


4 
Return 

75 
495


5 
Sales 
380 

875


17 
Sales 
348 

1,223

28 
Sales
299

1,522

29 
Payment 

100
1,422
(c)
Subsidiary ledger account balances: 


Elaine Davidson

$    280


Andrew Noren

   843


Erik Smistad

     299


Total

$1,422

Balance per general ledger control account

$1,422

EXERCISE 8-3

(a)
Jan.
5
Accounts Receivable

19,000





Sales


19,000



20
Cash [$4,500 - $146]

4,354




Credit Card Expense 




[$4,500 x 3.25%]

146





Sales


4,500


30
Accounts Receivable




[$1,000 - $38]

962



Credit Card Expense 




[$1,000 x 3.75%]

38




Sales


1,000



31
Cash [$4,000 - $25]

3,975



Debit Card Expense 




[50 x $0.50]

25




Sales


4,000


Feb.
1
Cash

12,000





Accounts Receivable


12,000



14
Cash

962





Accounts Receivable


962



28
Accounts Receivable 




[$7,000 x 24% x 1/12]

140




Interest Revenue


140
ADVANCE \d6(b)
Interest Revenue is reported under other revenues on the income statement. The Credit Card Expense and Debit Card Expense accounts are reported as operating expenses on the income statement.
EXERCISE 8-4
(a)

(1)
Dec.
31
Bad Debts Expense

9,200





Allowance for Doubtful Accounts

9,200





[($970,000 - $40,000 - $10,000) x 1%]
(2)

31
Bad Debts Expense

8,200





Allowance for Doubtful Accounts

8,200





[($90,000 x 10%) - $800]

ADVANCE \d6(b)

(1)
Dec.
31
Bad Debts Expense

4,600





Allowance for Doubtful Accounts

4,600





[($970,000 - $40,000 - $10,000) x 0.5%]

(2)

31
Bad Debts Expense

5,100





Allowance for Doubtful Accounts

5,100





[($90,000 x 5%) + $600]

EXERCISE 8-5
(a)



Estimated


Age of Accounts
Amount
%
Uncollectible

0-30 days outstanding
$65,000
2
$1,300


31-60 days outstanding
12,600
10
1,260


61-90 days outstanding
8,500
25
2,125

Over 90 days outstanding
6,400
50
  3,200





$7,885
ADVANCE \d6(b)
Mar.
31
Bad Debts Expense

6,685




Allowance for Doubtful Accounts

6,685





[$7,885 – $1,200]
EXERCISE 8-5 (continued)

(c)
The advantage of using an aging schedule to estimate uncollectible accounts is the amount calculated is much more sensitive to the amount of time the receivable has been outstanding. The disadvantage of using an aging schedule (as compared to estimating uncollectible accounts as a percentage of total receivables) is it can be time consuming to gather the information if the accounting system that is being used does not calculate an aging of the accounts receivable.
EXERCISE 8-6
(a)
2007
Dec.
 31
Bad Debts Expense 



[(2% x $450,000) + $1,000]

10,000




Allowance for Doubtful Accounts


10,000
2008
May 
11
Allowance for Doubtful Accounts

1,850



Accounts Receivable–Worthy


1,850
June 
12
Accounts Receivable–Worthy

1,850



Allowance for Doubtful Accounts


1,850

12
Cash

1,850



Accounts Receivable–Worthy


1,850
EXERCISE 8-6 (Continued)

(b)

	General Ledger

Allowance for Doubtful Accounts

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


2007
Dec.
31 
Balance 
 

DR 1,000 

31 
AJE

10,000 
9,000
2008

May
11 
Write-off 
1,850

7,150
June
12
Recovery

1,850
9,000
(c)

Before
After


Write-Off
Write-Off

Accounts receivable
$471,000
$469,150


Less: Allowance for doubtful

 Accounts
     9,000
     7,150

Net realizable value
$462,000
$462,000
EXERCISE 8-7

Nov.
1
Notes Receivable–Morgan

24,000




Cash


24,000

Dec.
1
Notes Receivable–Wright

4,500



Sales


4,500


15
Notes Receivable–Barnes

8,000




Accounts Receivable–Barnes


8,000

EXERCISE 8-7 (Continued)

Dec.
31
Interest Receivable

366



Interest Revenue*


366
ADVANCE \d6*Calculation of interest revenue:

Morgan: 
 ADVANCE \l3$24,000 x 8% x 2/12
ADVANCE \r0$320

Wright:  
$4,500 x 6% x 1/12
23

Barnes:
$8,000 x 7% x 0.5/12
    23
Total accrued interest 
$366

Mar.
1
Cash

4,568



Interest Receivable


23



Interest Revenue 




[$4,500 x 6% x 2/12]


45



Notes Receivable-Wright


4,500

EXERCISE 8-8

Mar
1
Notes Receivable–Jones

10,500




Accounts Receivable—Jones


10,500

June 
30 
Interest Receivable

175



Interest Revenue 




[$10,500 x 5% x 4/12]


175
July 1

Notes Receivable-Lough

3,000



Cash


3,000

Oct. 
1
Allowance for Doubtful Accounts

3,000



Notes Receivable-Lough


3,000

Dec.
1
Accounts Receivable-Jones

10,894



Notes Receivable


10,500



Interest Receivable


175



Interest Revenue [10,500 x 5% x 5/12]

219
EXERCISE 8-9

(a) Total interest revenue for the year ended December 31, 2008 - $4,004 calculated as follows:

	Note
	Calculation
	Interest Revenue

	1.
	$15,000 x 4.50% x 12/12 =
	$   675

	2.
	$46,000 x 5.25% x 12/12 =
	2,415

	3.
	$22,000 x 5.75% x 8/12 =
	843

	4.
	$9,000 x 4.75% x 2/12 =
	      71

	
	Total
	$4,004



Interest Revenue is reported under other revenues on the income statement.
(b) Notes receivable reported under the current asset section of the balance sheet total $70,000 (Notes 1, 2 and 4 which are all due before December 31, 2009).


Notes receivable reported under the other asset section of the balance sheet total $22,000 (Note 3 which is due May 1, 2013).


Interest receivable reported under the current asset section of the balance sheet total $3,251 calculated as follows:

	Note
	Calculation
	Interest Revenue

	1.
	$15,000 x 4.50% x 1/12 =
	$      56

	2.
	$46,000 x 5.25% x 15/12 =
	3,019

	3.
	$22,000 x 5.75% x 1/12 =
	105

	4.
	$  9,000 x 4.75% x 2/12 =
	      71

	
	Total
	$3,251


EXERCISE 8-10
(a)
Feb.
29
Bad debts expense

35,000




Allowance for Doubtful Accounts


35,000

(b)
AJS COMPANY

Balance Sheet (Partial)

February 29, 2008

Assets

Current assets


Cash


$   90,000


Notes receivable


45,000


Accounts receivable

$600,000


Less: Allowance for doubtful accounts

    35,000
565,000


GST recoverable

25,000


Merchandise inventory

365,000

Supplies

  10,000

Total current assets

$1,100,000
(c) 
Receivables Turnover:

$3,000,000 ÷ [($565,000 + $0*) ÷ 2] = 10.62 times


*Accounts receivable at the beginning of the year would have been $0 because this was the first year of business.

Average Collection Period:

365 days ÷ 10.62 = 34.4 days

EXERCISE 8-11
(a)
Current Ratio:

2004:  $1,710 ÷ $2,259 = 0.76

2005:  $1,149 ÷ $1,958 = 0.59
(b)
Receivables Turnover:

2004:  $6,548 ÷ [($529 + $793) ÷ 2] = 9.91 times


2005:  $7,240 ÷ [($623 + $793) ÷ 2] = 10.23 times


Average Collection Period:

2004: 365 days ÷ 9.91 = 36.8 days


2005: 365 days ÷ 10.23 = 35.7 days

(c)
Accounts receivable, at approximately 54% ($623 ÷ $1,149) of current assets, are a material component.

(d)
Management of receivables has improved. This is evidenced by the decrease in the average collection period from 36.8 days to 35.7 days and the increase in the turnover from 9.91 times to 10.23 times.

EXERCISE 8-12

CN securitizes a large portion of its receivables to accelerate its cash receipts to provide it with a source of current financing. 
SOLUTIONS TO PROBLEMS

ADVANCE \d6
	PROBLEM 8-1A


(a)
1.
Accounts Receivable

2,620,000




Sales


2,620,000


2.
Sales Returns and Allowances

40,000




Accounts Receivable


40,000


3.
Cash

2,700,000




Accounts Receivable


2,700,000


4.
Allowance for Doubtful Accounts
75,000




Accounts Receivable


75,000


5.
Accounts Receivable

30,000




Allowance for Doubtful Accounts

30,000



Cash

30,000




Accounts Receivable


30,000

(b) 

	Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Jan. 
1 
Balance 
(


995,000


1 

2,620,000

3,615,000


2 


40,000 
3,575,000


3 


2,700,000 
875,000


4 


75,000 
800,000


5 

30,000 

830,000


5 


30,000 
800,000

PROBLEM 8-1A (Continued)

(b) (continued)

	Allowance for Doubtful Accounts

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Jan. 
1 
Balance 
(


59,700

4 

75,000 

15,300 Dr.


5 


30,000 
14,700
(c)
Balance before adjustment [see (b)]

$14,700

Balance needed [$800,000 x 6%]

  48,000

Adjustment required

$33,300
The journal entry would therefore be as follows:

Dec. 
31
Bad Debts Expense

33,300



Allowance for Doubtful Accounts

33,300
(d)
Accounts Receivable 

$800,000


Less: Allowance for Doubtful Accounts

    48,000

Net Realizable Value

$752,000
	PROBLEM 8-2A


(a)
1.
Accounts Receivable

1,950,000




Sales


1,950,000


2.
Cash

2,020,000




Accounts Receivable


2,020,000

(b)
1.
Allowance for Doubtful Accounts

29,500




Accounts Receivable


29,500


2.
Accounts Receivable

3,500




Allowance for Doubtful Accounts

3,500



Cash

3,500




Accounts Receivable


3,500

(c)

	Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance



Balance
(


300,000


Sales 
1,950,000 

2,250,000


Collections 

2,020,000 
230,000


Write-offs 

29,500 
200,500


Recovery 
3,500 

204,000


Payment 

3,500 
200,500

PROBLEM 8-2A (Continued)
(c) (Continued)

	Allowance for Doubtful Accounts

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance



Balance 
(


18,000


Write-offs 
29,500 

11,500 Dr.


Recovery 

3,500 
8,000 Dr.

(d)
Bad Debts Expense 


[($200,500 x 6%) + $8,000]

20,030



Allowance for Doubtful Accounts


20,030

(e)
Accounts Receivable 

$200,500


Less: Allowance for Doubtful Accounts

    12,030

Net Realizable Value

$188,470
ADVANCE \d6(f)
The bad debts expense on the income statement would be $20,030.

(g)
Bad Debts Expense

($1,950,000 x 1.25%)

24,375


Allowance for Doubtful Accounts


24,375
	Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance



Balance 
(


300,000


Sales 
1,950,000 

2,250,000


Collections 

2,020,000 
230,000


Write-offs 

29,500 
200,500


Recovery 
3,500 

204,000


Payment 

3,500 
200,500
PROBLEM 8-2A (Continued)

(g) (Continued)

	Allowance for Doubtful Accounts

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance



Balance 
(


18,000


Write-offs 
29,500 

11,500 Dr.


Recovery 

3,500 
8,000 Dr.


Bad debts expense

24,375
16,375

Accounts Receivable 

$200,500


Less: Allowance for Doubtful Accounts

    16,375

Net Realizable Value

$184,125
ADVANCE \d6The bad debts expense on the income statement would be $24,375 (1.25% of $1,950,000 net credit sales).

	PROBLEM 8-3A


(a)
$20,000 ($24,000 - $4,000)

(b)
$37,125 [($1,650,000 x 2.25%)]


The balance in the allowance is not relevant.

(c)
$38,500 [($42,000) - $3,500]

(d)
$44,250 [$42,000 + $2,250]

(e)
The write-off of an uncollectible account does not affect the net realizable value of accounts receivable. Accounts receivable are decreased and the allowance for doubtful accounts is also decreased resulting in no change in the amount of the net realizable value of accounts receivable.

(f)
Companies should use the allowance method of accounting for bad debts because it provides a better matching of bad debts expenses incurred to revenues earned in the period. It also provides a better representation of the amount of accounts receivable expected to be collected.

	PROBLEM 8-4A


(a)
2008


Estimated


# of Days Outstanding
Amount
%
Uncollectible

0-30 days outstanding
$150,000
3
$  4,500


31-60 days outstanding
32,000
 6
1,920

61-90 days outstanding
43,000
12
5,160

Over 90 days outstanding
    65,000
24
  15,600



$290,000

$27,180

2007


Estimated


# of Days Outstanding
Amount
%
Uncollectible

0-30 days outstanding
$160,000
3
$  4,800


31-60 days outstanding
57,000
 6
3,420


61-90 days outstanding
38,000
12
4,560


Over 90 days outstanding
   25,000
24
    6,000



$280,000

$18,780

Although accounts receivable have only increased by $10,000 the estimated uncollectible amounts have increased by $8,400. The most significant increase occurred in over 90 day balances. The balance rose from $6,000 to $15,600.
(b)
1.
Bad Debts Expense

14,280


Allowance for Doubtful Accounts 



[$18,780 - $4,500]


14,280
2.
Allowance for Doubtful Accounts

21,000



Accounts Receivable


21,000

PROBLEM 8-4A (Continued)

(b) (Continued)

3.
Accounts Receivable

1,500



Allowance for Doubtful Accounts


1,500


Cash

1,500



Accounts Receivable


1,500
4.
Bad Debts Expense

27,900


Allowance for Doubtful Accounts


27,900


[$27,180 - ($18,780 - $21,000 + $1,500)]
(c)
2007

Accounts Receivable 

$280,000


Less: Allowance for Doubtful Accounts

    18,780

Net Realizable Value

$261,220

2008

Accounts Receivable 

$290,000


Less: Allowance for Doubtful Accounts

    27,180

Net Realizable Value

$262,820
	PROBLEM 8-5A


(a) Total estimated uncollectible accounts
	
	
	Number of Days Outstanding

	
	Total
	0-30
	31-60
	61-90
	Over 90

	Accounts receivable
	$385,000
	$220,000
	$100,000
	$40,000
	$25,000

	% uncollectible
	
	1%
	5%
	10%
	20%

	Estimated uncollectible accounts
	$16,200
	$2,200
	$5,000
	$4,000
	$5,000


(b) Bad Debts Expense

26,200



Allowance for Doubtful Accounts


26,200



[$16,200 + $10,000]

(c) Allowance for Doubtful Accounts

17,800



Accounts Receivable


17,800

(d) Accounts Receivable

6,300



Allowance for Doubtful Accounts


6,300


Cash

6,300



Accounts Receivable


6,300

(e) If Imagine Co. used 3% of accounts receivable rather than aging the accounts, the adjustment would be $21,550 [($385,000 x 3%) + $10,000]. The remaining entries would remain unchanged.

(f) Aging the accounts rather than applying a percentage to the total accounts receivable should produce a more accurate allowance and bad debts expense when the aging of the accounts change. It also focuses management attention on the receivables and the loss percentages, which can result in better receivables management.

	PROBLEM 8-6A


	Accounts Receivable

	Beg. Bal.
             325,000
	Write-offs 
(b) 21,550

	Sales 
(a) 2,515,000
	Collections
(c) 2,442,450

	
	

	End Bal.
           376,000
	


	Allowance for Doubtful Accounts

	
	Beg. Bal.
22,750

	
	Bad debts 
(d) 25,150

	Write-offs
21,550
	

	
	End. Bal.
26,350


	Sales

	
	Sales
(e) 2,515,000


	Bad Debts Expense

	
(f) 25,150
	


Allowance for Doubtful Accounts

21,550


Accounts Receivable (b)


21,550

Bad Debts Expense (f)

25,150


Allowance for Doubtful Accounts (d)

25,150

($22,750 - $21,550 - $26,350 = $25,150)

Accounts Receivable (a)

2,515,000


Sales (e)


2,515,000

($25,150 = 1% of sales; therefore sales = $2,515,000)

Cash

2,442,450


Accounts Receivable (c)


2,442,450
($325,000 + $2,515,000 - $21,550 - $376,000 = $2,442,450)

	PROBLEM 8-7A


(a) 
April

1.
Accounts Receivable

646,900




Sales


646,900

2.
Sales Returns and Allowances

10,900




Accounts Receivable


10,900


3.
Cash

696,250




Accounts Receivable


696,250


4. Accounts Receivable

13,860



Interest Revenue


13,860


5. Bad Debts Expense

19,080




Allowance for Doubtful Accounts

19,080




[($646,900 - $10,900) x 3%]


May


1.
Accounts Receivable

763,600




Sales


763,600


 2.
Accounts Receivable

4,450




Allowance for Doubtful Accounts

4,450



Cash

4,450




Accounts Receivable


4,450


3.
Cash

785,240




Accounts Receivable


785,240


4.
Allowance for Doubtful Accounts

69,580




Accounts Receivable


69,580

PROBLEM 8-7A (Continued)

(a) (Continued)


5. Accounts receivable

12,070



Interest revenue


12,070


6.
Bad debts expense

44,318



Allowance for Doubtful Accounts

44,318



[($766,960 x 6%) - $1,700] 

	Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


April
Opening Balance 
(


892,500

1. 
Sales 
646,900 

1,539,400

2. 
Returns 

10,900 
1,528,500
3. 
Collections 

696,250 
832,250

4.
Interest charges
13,860

846,110

May

1.
Sales
763,600

1,609,710

2.
Recovery
4,450

1,614,160

2.
Collection recovery

4,450
1,609,710

3.
Collections

785,240
824,470

4.
Write-offs

69,580
754,890

5.
Interest charges
12,070

766,960

	Allowance for Doubtful Accounts

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


April 
Opening Balance 
(


47,750

5. 
Bad debts expense 

19,080 
66,830

May

2. 
Recovery 

4,450 
71,280

4. 
Write-offs 
69,580 

1,700

6. 
Bad debts expense 

44,318 
46,018
PROBLEM 8-7A (Continued)

(b)
Accounts Receivable

$766,960


Less: Allowance for Doubtful Accounts

   46,018

Net Accounts Receivable

$720,942
(c)
Bad debts expense

Balance March 31

$115,880


April entry

19,080


May entry

    44,318

Total expense for the year

$179,278

(d)
Bad debts expense is included as an operating expense on the income statement. Interest revenue is included in Other Revenue on the income statement. 
	PROBLEM 8-8A


(a)

Jan.
2
Accounts Receivable—George

16,000




Sales


16,000

Feb.
1
Notes Receivable—George

16,000




Accounts Receivable—George


16,000

Mar.
31
Cash [$12,000 + $150 + 100]

12,250




Notes Receivable—Annabelle


12,000




Interest Revenue [$12,000 x 5% x 3/12]

150




Interest Receivable [$12,000 x 5% x 2/12]

100

May
1
Cash [$16,000 + $260]

16,260




Notes Receivable—George


16,000




Interest Revenue


260



[$16,000 x 6.5% x 3/12]

25
Notes Receivable—Avery

6,000




Accounts Receivable—Avery


6,000

June
 25
Cash

30




Interest Revenue


30




[$6,000 x 6% x 1/12]
July
25
Allowance for doubtful accounts

6,000




Notes Receivable-Avery


6,000

Sept. 1

Notes receivable—Young

10,000



Sales


10,000

PROBLEM 8-8A (Continued)

(a) (Continued)

Nov. 
22
There would probably be no entry made on November 22. Vu Company would likely start investigating the facts of this situation in an attempt to determine whether the note will be collectible or not.

Nov.
30
Notes Receivable—MRC

5,000




Cash


5,000

Dec.
 31
Interest Receivable—MRC

19




Interest Revenue


19




[$5,000 x 4.5% x 1/12]

31
Interest Receivable—Young

175




Interest Revenue


175




[$10,000 x 5.25% x 4/12]
The company would evaluate the information available on Young Company and may decide to write-off the note and not accrue the interest. If they decide that a write-off is appropriate, the above entry would not be made and the following entry would be made:

Dec.
31
Allowance for Doubtful Accounts

10,000




Notes Receivable—Young


10,000

(b) 
Consideration would have to be given as to whether the note should be written off. At the very least, an allowance should be created with respect to the Young Company note, based upon the estimated probability of collection. Interest should not be accrued if it is unlikely to be collected.
	PROBLEM 8-9A


(a)
ALD Inc.
$6,000 x 6% x 1/12 = 
$  30


KAB Ltd.
$10,000 x 5.5% x 8/12 =
367


DNR Co.
$4,800 x 6.75% x 1/12 =
27

MJH Corp.
$9,000 x 5% x 0/12 =
      0

Total

$424
(b)
July
1
Cash 

30





Interest Receivable





[$6,000 x 6% x 1/12]


30


5
Credit Card Receivables

7,800





Sales


7,800



25
Cash

5,400




Credit Card Receivables


5,400



31
Credit Card Receivables

215





Interest Revenue


215



31
Accounts Receivable—DNR Co.

4,854





Notes Receivable—DNR Co.


4,800





Interest Receivable





[$4,800 x 6.75% x 1/12]


27




Interest Revenue





[$4,800 x 6.75% x 1/12]


27


31
Interest Receivable 

114




Interest Revenue


114
ALD Inc.
$ 6,000 x 6% x 1/12 =
$ 30
KAB Ltd.
$10,000 x 5.5% x 1/12 =
46

MJH Corp.
$ 9,000 x 5% x 1/12 =
   38
Total

$114
PROBLEM 8-9A (Continued)

(c)

	Notes Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


July 
1 
Balance 
( 


29,800


31 



4,800 
25,000

	Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


July 
31

 
4,854

4,854

	Credit Card Receivables

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


July 
1 
Balance 
(


11,500
July 
5 


7,800 

19,300


25



5,400
13,900


31 


215

14,115

	Interest Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


July 
1 
Balance 
( 


424


1 



30 
394


31 



27 
367


31 
Adjusting entry 

114

481
PROBLEM 8-9A (Continued)

(d)

OUELLETTE CO.

Balance Sheet (partial)

July 31, 2008
Assets

Current assets


Notes receivable

$25,000


Accounts receivable

4,854


Credit card receivables

14,115


Interest receivable

      481


Total current assets

$44,450
(e)
Interest should not be accrued on this note if it is unlikely to be collected. In addition, consideration would have to be given as to whether the note should be written off. At the very least, an allowance should be created with respect to the DNR note, based upon the estimated probability of collection.
PROBLEM 8-10A

(a)
NORLANDIA SAGA COMPANY

Balance Sheet (Partial)

November 30, 2008

(in thousands)

Assets

Current assets


Cash and cash equivalents

$   802.2


Notes receivable

64.0

Accounts receivable

$389.2


Less: Allowance for doubtful accounts

   18.5
370.7


Merchandise inventory

420.6

Prepaid expenses and deposits

24.1

Supplies

       19.9

Total current assets

1,701.5
Property, plant and equipment


Equipment

$1,155.2


Less:  Accumulated amortization 

577.1
578.1

Other assets


Notes receivable

     127.4


Total assets

$2,407.0
PROBLEM 8-10A (Continued)

(b)



2008


2007


Receivables 

$3,529.7 - $23.1

turnover:


($370.7 + $345.1) ÷ 2



= 9.8



= 9.1*
*Given in the problem
Average 

collection 

365 ÷ 9.8


365 ÷ 9.1
period:

= 37 days


= 40 days

Norlandia’s receivables turnover ratio was a little higher in 2008, which means that Norlandia was more efficient in 2008 in turning receivables into cash.

	PROBLEM 8-11A




Nike


Adidas


($ in U.S. millions)

Jan. 1, 2005

Accounts receivable
$2,215.5
$1,137.8

Less: allowance
      95.3
      91.5
Net realizable value
$2,120.2
$1,046.3
Dec. 21, 2005

Accounts receivable
$2,342.5
$1,045.5

Less: allowance
      80.4
      80.7
Net realizable value
$2,262.1
$  964.8
Receivables 

$13,739.7


$6,635.6

turnover:
($2,120.2 + $2,262.1) ÷ 2
($1,046.3 + $964.8) ÷ 2


= 6.3
= 6.6
Average 

collection 

365 ÷ 6.3


365 ÷ 6.6
period:

= 57.9 days

= 55.3 days

Adidas’ receivables turnover ratio was a little higher than Nike’s, which means that Adidas was more efficient than Nike in turning receivables into cash.

	PROBLEM 8-12A


(a)
	
	2008
	2007
	2006

	Collection period
	365 ÷ 6 = 60.8 days
	365 ÷ 7 = 52.1 days
	365 ÷ 8 = 45.6 days

	Days sales in inventory
	365 ÷ 7 = 52.1 days
	365 ÷ 6 = 60.8 days
	365 ÷ 5 = 73 days

	Operating cycle
	60.8 + 52.1 = 112.9 days
	52.1 + 60.8 = 112.9 days
	45.6 + 73 = 118.6 days


(b)
Overall, Western Roofing’s liquidity has improved over the three year period. Current ratio has improved from 1.4 to 1 to 1.6 to 1. Operating cycle has improved from 118.6 days to 112.9 days. Collection period has deteriorated each year; however, days sales in inventory has improved each year compensating for the change.
	PROBLEM 8-1B


(a)
1.
Accounts Receivable

3,200,000




Sales


3,200,000


2.
Sales Returns and Allowances

50,000




Accounts Receivable


50,000


3.
Cash

3,000,000




Accounts Receivable


3,000,000


4.
Allowance for Doubtful Accounts

90,000




Accounts Receivable


90,000


5.
Accounts Receivable

18,000




Allowance for Doubtful Accounts

18,000



Cash

18,000




Accounts Receivable


18,000

PROBLEM 8-1B (Continued)

(b) 

	Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Jan. 
1 
Balance 
(


960,000


1. 


3,200,000 

4,160,000


2. 



50,000 
4,110,000


3. 



3,000,000 
1,110,000


4. 



90,000 
1,020,000


5. 


18,000 

1,038,000


5. 



18,000 
1,020,000

	Allowance for Doubtful Accounts

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Jan. 
1 
Balance 
(


67,200

4. 


90,000 

22,800 Dr.


5. 



18,000 
4,800 Dr.



(c) 

76,200 
71,400
(c)
Bad Debts Expense

76,200



Allowance for Doubtful Accounts



[($1,020,000 x 7%) + 4,800]


76,200

(d)
Accounts Receivable 

$1,020,000


Less: Allowance for Doubtful Accounts

       71,400

Net Realizable Value

$   948,600
	PROBLEM 8-2B


(a)

1.
Accounts Receivable

800,000



Sales


800,000

2.
Cash

723,000



Accounts Receivable


723,000

(b)

1.
Allowance for Doubtful Accounts

21,750



Accounts Receivable


21,750

2.
Accounts Receivable

3,300



Allowance for Doubtful Accounts


3,300


Cash

3,300



Accounts Receivable


3,300

(c)
Bad Debts Expense [2.25% x $800,000]

18,000



Allowance for Doubtful Accounts


18,000

(d)

	Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance



Balance 
(


200,000


Sales 
800,000 

1,000,000


Collections 

723,000 
277,000


Write-offs 

21,750 
255,250


Recovery 
3,300 

258,550


Payment 

3,300 
255,250

PROBLEM 8-2B (Continued)

(d) (Continued)

	Allowance for Doubtful Accounts

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance



Balance 
(


16,000


Write-offs 
21,750 

5,750 Dr.


Recovery 

3,300 
2,450 Dr.


Bad debts expense
(c)

18,000 
15,550
(e)
Accounts Receivable 

$255,250


Less: Allowance for Doubtful Accounts

    15,550

Net Realizable Value

$239,700
ADVANCE \d6(f)
The bad debts expense on the income statement would be $18,000 (2.25% of sales).

PROBLEM 8-2B (Continued)

	(g)
Accounts Receivable


	Date

	Explanation

	Ref.
	Debit

	Credit

	Balance



	
Balance 
(


200,000


Sales 
800,000 

1,000,000


Collections 

723,000 
277,000


Write-offs 

21,750 
255,250


Recovery 
3,300 

258,550


Payment 

3,300 
255,250



	


	Allowance for Doubtful Accounts

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance



Balance 
(


16,000


Write-offs 
21,750 

5,750 Dr.


Recovery 

3,300 
2,450 Dr.


Bad debts expense 

22,870 
20,420

Bad Debts Expense

22,870

Allowance for Doubtful Accounts


22,870

[($255,250 x 8%) + $2,450]

Accounts Receivable 

$255,250

Less: Allowance for Doubtful Accounts

    20,420
Net Realizable Value

$234,830
ADVANCE \d6The bad debts expense on the income statement would be $22,870 – the amount required to bring the allowance to 8% of Accounts Receivable.

	PROBLEM 8-3B


(a)
$29,000 ($35,000 - $6,000) is the amount Hohenberger would record as bad debts expense.

(b)
$50,000 [($2,000,000 x 2.5%)]


The balance in the allowance for doubtful accounts would not affect the amount of the journal entry.

(c)
$44,000 [($800,000 x 6%) - $4,000]

(d)
$51,000 [$48,000 + $3,000]

(e)
The write-off of an uncollectible account does not affect the current year’s bad debts expense (debit the allowance and credit the accounts receivable). The bad debts expense is affected when the allowance is estimated.

(f)
The collection of an account that had previously been written off would decrease the net realizable value of accounts receivable. Accounts receivable would be decreased by the amount of cash received and therefore the net realizable value of accounts receivable would also decrease.
	PROBLEM 8-4B


(a)
2008


Estimated


# of Days Outstanding
Amount
%
Uncollectible

0-30 days outstanding
$120,000
1.5
$  1,800

31-60 days outstanding
32,000
 6
1,920


61-90 days outstanding
45,000
18
8,100

Over 90 days outstanding
    78,000
40
  31,200



$275,000

$43,020

2007


Estimated


# of Days Outstanding
Amount
%
Uncollectible

0-30 days outstanding
$137,000
1.5
$  2,055

31-60 days outstanding
61,000
 6
3,660

61-90 days outstanding
38,000
18
6,840

Over 90 days outstanding
   24,000
40
    9,600


$260,000

$22,155
Although accounts receivable have only increased by $15,000 the estimated uncollectible amounts have increased by $20,865. The most significant increase occurred in over 90 day balances where estimated uncollectibles rose from $9,600 to $31,200.
(b)
1.
Bad Debts Expense

16,455


Allowance for Doubtful Accounts 



[$22,155 - $5,700]


16,455
2.
Allowance for Doubtful Accounts

26,000



Accounts Receivable


26,000

PROBLEM 8-4B (Continued)

(b) (Continued)

3.
Accounts Receivable

1,200



Allowance for Doubtful Accounts


1,200


Cash

1,200


Accounts Receivable


1,200
4.
Bad Debts Expense

45,665


Allowance for Doubtful Accounts


45,665


[$43,020 - ($22,155 - $26,000 + $1,200)]
(c)
2007

Accounts Receivable 

$260,000


Less: Allowance for Doubtful Accounts

    22,155

Net Realizable Value

$237,845

2008

Accounts Receivable 

$275,000

Less: Allowance for Doubtful Accounts

    43,020

Net Realizable Value

$231,980
	PROBLEM 8-5B


(a)

	
	Total
	0-30
	31-60
	61-90
	91-120

	Total
	$560,000
	$220,000
	$160,000
	$100,000
	$80,000

	Estimated percentage uncollectible
	
	1%
	5%
	10%
	20%

	Estimated uncollectible accounts
	$36,200
	$2,200
	$8,000
	$10,000
	$16,000


(b)

Bad Debts Expense

29,200



Allowance for Doubtful Accounts



[$36,200 - $7,000]


29,200
(c)
Allowance for Doubtful Accounts

32,000



Accounts Receivable


32,000
(d)

Accounts Receivable

9,000



Allowance for Doubtful Accounts


9,000

Cash

8,500




Accounts Receivable


8,500

(e)
Establishing an allowance for doubtful accounts satisfies the matching principle because when the year end adjusting journal entry is prepared bad debts expense is increased and the allowance for doubtful accounts is also increased. The matching principle requires expenses to be recorded in the same period as the sales they helped generate. Bad debts expenses are recorded in the same period in which the sales to which they relate were generated.
	PROBLEM 8-6B

	Accounts Receivable
	

	Beg. Bal.
845,000
	Write-offs
(b) 38,400

	Sales
(a) 4,550,000
	Collections
(c) 4,429,100

	
	

	End. Bal.
927,500
	


	Allowance for Doubtful Accounts
	

	
	Beg. Bal.
72,500

	
	Bad debt
(e) 45,500

	Write-off
 (d) 38,400
	

	
	End. Bal.
79,600

	Sales

	
	Sales
(f) 4,550,000

	Bad Debts Expense

	
45,500
	


Bad Debts Expense

45,500


Allowance for Doubtful Accounts (e)


45,500

Accounts Receivable (a)

4,550,000

Sales (f)


4,550,000
($45,500 = 1% of sales; therefore sales = $4,550,000)

Allowance for Doubtful Accounts (d)

38,400


Accounts Receivable (b)


38,400

($72,500 + $45,500 – $79,600 = $38,400)

Cash

4,429,100


Accounts Receivable (c)


4,429,100

($845,000 + $4,550,000 - $38,400 - $927,500 = $4,429,100)
	PROBLEM 8-7B


(a) 
September


1.
Accounts Receivable

546,300




Sales


546,300


2.
Sales Returns and Allowances

9,170




Accounts Receivable


9,170


3.
Cash

592,750




Accounts Receivable


592,750


4.
Accounts Receivable

12,020



Interest Revenue


12,020

5.
Bad debts expense

10,743



Allowance for Doubtful Accounts



[($546,300 - $9,170) x 2%]


10,743

October


1.
Accounts Receivable

639,900




Sales


639,900


2.
Accounts Receivable

3,450




Allowance for Doubtful Accounts


3,450



Cash

3,450




Accounts Receivable


3,450


3.
Cash

585,420




Accounts Receivable


585,420

PROBLEM 8-7B (Continued)

(a) (Continued)


4.
Allowance for Doubtful Accounts

46,480



Accounts Receivable


46,480

5.
Accounts Receivable

12,070




Interest Revenue


12,070


6.
Bad debts expense

26,286



Allowance for Doubtful Accounts



[($718,970 x 3%) + $4,717]


26,286
	Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Sept. 
Opening Balance 
(


742,500

1. 
Sales 
546,300 

1,288,800

2. 
Returns 

9,170 
1,279,630

3. 
Collections 

592,750 
686,880

4. 
Interest 
12,020 

698,900

Oct.

1. 
Sales 
639,900 

1,338,800
2. 
Recovery 
3,450 

1,342,250
2. 
Collection (recovery) 

3,450 
1,338,800
3. 
Collections 

585,420 
753,380
4.
Write-offs 

46,480 
706,900
5.
Interest
12,070

718,970

PROBLEM 8-7B (Continued)

(a) (Continued)

	Allowance for Doubtful Accounts

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Sept. 
Opening Balance 
(


27,570

5. 
Bad debts expense 

10,743
 38,313

Oct.

2. 
Recovery 

3,450 
41,763
4. 
Write-offs 
46,480 

4,717 Dr.

7. 
Bad debts expense 

26,286 
21,569
(b)
Accounts Receivable

$718,970

Less: Allowance for Doubtful Accounts

    21,569

Net Accounts Receivable

$697,401
(c)
Bad debts expense

Balance August 31

$  85,680

September entry

10,743


October entry

    26,286

Total expense for the year

$122,709
(d)
Bad debts expense is recorded as an operating expense on the income statement.

Interest Revenue is reported under other revenues on the income statement.

	PROBLEM 8-8B


Jan.
2
Accounts Receivable



—Brooks Company

9,000




Sales


9,000

Feb.
1
Notes Receivable—Brooks Company
9,000




Accounts Receivable




—Brooks Company


9,000


18
Accounts Receivable—Mathias Co

4,000




Sales


4,000

Mar.
1
Cash [$9,000 x 6% x 1/12]

45



Interest Revenue


45

2
Notes Receivable—Mathias Co.

4,000




Accounts Receivable—Mathias Co.

4,000


31
Interest Receivable

63



Interest Revenue


63


Brooks Company $9,000 x 6% x 1/12

$45


Mathias Co, $4,000 x 5.5% x 1/12

  18


Total

$63
Apr.
1
Cash

45



Interest Receivable


45
PROBLEM 8-8B (Continued)

May
1
Cash [$9,000 + $45]

9,045



Notes Receivable—Brooks Company

9,000




Interest Revenue




[$9,000 x 6% x 1/12]


45
June
2
Accounts Receivable—Mathias Co.

4,055



Notes Receivable—Mathias Co.


4,000




Interest Revenue [$4,000 x 5.5% x 2/12]

37



Interest Receivable


18
July
13
Notes Receivable—Tritt Inc.

5,000




Sales


5,000

Oct.
13
Allowance for Doubtful Accounts

5,000




Notes Receivable—Tritt Inc.


5,000

	PROBLEM 8-9B


(a) Interest Receivable at September 30, 2008

	FRN Inc.
	$9,000 x 5.5% x 1/12 =
	   $41

	IMM Ltd.
	$7,500 x 5.25% x 4/12 =
	131

	DRX Co.
	$6,000 x 5% x 1/12 =
	25

	MGH Corp.
	$10,200 x 6% x 0/12 =
	      0

	
	Total
	$197


(b)
Oct.
1
Cash

41




Interest Receivable





[$9,000 x 5.5% x 1/12]


41


7
Credit Cards Receivable

5,800





Sales


5,800



29
Cash

4,100




Credit Cards Receivable


4,100



31
Credit Cards Receivable

325




Interest Revenue


325


31
Accounts Receivable—DRX

6,050




Notes Receivable—DRX


6,000





Interest Receivable





[$6,000 x 5% x 1/12]


25




Interest Revenue





[$6,000 x 5% x 1/12]


25


31
Interest Receivable

125




Interest Revenue


125



FRN $9,000 x 5.5% x 1/12 = 
$  41




IMM $7,500 x 5.25% x 1/12 = 
33




MGH $10,200 x 6% x 1/12 = 
   51



Total
$125
PROBLEM 8-9B (Continued)

(c)
	Notes Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Oct. 
1 
Balance 
( 


32,700


31 



6,000 
26,700

	Accounts Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Oct. 
31

 
6,050

6,050
	Credit Cards Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Oct. 
1 
Balance 
( 


16,300


7 


5,800 

22,100

29 



4,100
18,000

31 


325 

18,325

	Interest Receivable

	Date
	Explanation
	Ref.
	Debit
	Credit
	Balance


Oct. 
1 
Balance 
(


197

1



41
156


31



25
131


31 
Adjusting entry

125

256
PROBLEM 8-9B (Continued)

(d)

TARDIF COMPANY

Balance Sheet (partial)

October 31, 2008
Assets

Current assets


Notes receivable

$26,700


Accounts receivable

6,050


Credit cards receivable

18,325


Interest receivable

       256


Total current assets

$51,331
(e)
Oct. 31 

Allowance for Doubtful Accounts
6,000



Interest Revenue

25





Notes Receivable—Drexler


6,000





Interest Receivable


25
The interest previously accrued on this note should be written off, as well as the note itself. Also, no interest would be accrued for October.

PROBLEM 8-10B

(a)
TOCKSFOR COMPANY

Balance Sheet (Partial)

September 30, 2008

(in thousands)

Assets

Current assets


Cash and cash equivalents

$   787.3

Notes receivable

128.0

Accounts receivable

$787.1

Less: Allowance for doubtful accounts

    47.2
739.9

Merchandise inventory

841.2

Prepaid expenses and deposits

26.8

Supplies

       29.0

Total current assets

2,552.2
Property, plant and equipment


Equipment

$2,310.4

Less:  Accumulated amortization 

  1,144.9
1,165.5
Other assets


Notes receivable

     254.8


Total assets

$3,972.5
PROBLEM 8-10B (Continued)

(b)



2008


2007


Receivables 

$6,087.3 - $41.7

turnover:
($739.9 + $765.9) ÷ 2



= 8.0



= 8.3*
*Given in the problem
Average 

collection 

365 ÷ 8.0


365 ÷ 8.3
period:

= 45.6 days

= 44 days

Tocksfor’s receivables turnover ratio was a little lower in 2008, which means that Tocksfor was taking a little longer in 2008 in turning receivables into cash.

	PROBLEM 8-11B




Rogers


Shaw


($ in millions)

Jan. 1, 2005

Accounts receivable
$767.9
$142.5
Less: allowance
    94.0
    23.0
Net realizable value
$673.9
$119.5
Dec. 21, 2005

Accounts receivable
$989.2
$146.6
Less: allowance
   98.5
    31.9
Net realizable value
$890.7
$114.7
Receivables 

$7,482.2


$2,209.8

turnover:
($673.9 + $890.7) ÷ 2
($119.5 + $114.7) ÷ 2



= 9.56


= 18.9
Average

collection 

365 ÷ 9.56


365 ÷ 18.9
period:

= 38 days


= 19 days

Shaw’s receivables turnover was almost 100% higher than Rogers, which means Shaw was more efficient than Rogers in collecting its receivables. 
	PROBLEM 8-12B


(a)

	
	2008
	2007
	2006

	Collection period
	365 ÷ 6.5 = 56.2 days
	365 ÷ 7.3 = 
50 days
	365 ÷ 8.7 = 

42 days

	Days sales in inventory
	365 ÷ 6.9 = 52.9 days
	365 ÷ 7.6 = 
48 days
	365 ÷ 8.5 = 42.9 days

	Operating cycle
	56.2 + 52.9 = 109.1 days
	50 + 48 = 
98 days
	42 + 42.9 = 84.9 days


(b)
Overall, Satellite Mechanical’s liquidity has deteriorated over the three year period. Current ratio has improved from 1.6 to 1 to 2.0 to 1. This has occurred because both accounts receivable and inventory have increased over the three year period and has resulted in the operating cycle weakening from 84.9 days to 109.1 days. 
	CONTINUING COOKIE CHRONICLE


(a)
Answers to Natalie’s questions

1.
Calculations you should perform on the statements are:

· Working capital = Current Assets - Current Liabilities

· Current ratio = Current assets ÷ Current liabilities

· Inventory turnover = Cost of Goods Sold ÷ Average Inventory

· Days Sales in Inventory = Days in the Year ÷ Inventory Turnover

Given the type of business it is unlikely that Curtis would have a significant amount of accounts receivable.

Positive working capital and a current ratio of greater than 1 is an indication that the company has good liquidity and will be more likely to be able to pay for the mixer. The inventory turnover and days sales in inventory will provide additional information – the days sales in inventory will tell you how long, on average it takes for inventory to be sold. 

2. 
Other alternatives to extending credit to Curtis include:

· Waiting for 30 days to make the sale

· Have Curtis borrow from the bank

· Have Curtis use a credit card to finance the purchase.

CONTINUING COOKIE CHRONICLE (Continued)

(a) (Continued)

3.
The advantages of allowing customers to use credit cards include making the purchase easier for the customer, potentially increasing sales, as customers are not limited to the amount of cash in their wallet, and reducing the accounts receivable you have to manage if credit cards are used instead of granting credit to customers. 

The disadvantage is the cost to your business. When a customer makes a purchase using a credit card you will have to pay a percentage of the sale to the credit card company. The rate varies but 3% would not be unusual. You will also have to pay to rent the equipment. The fee is not large but is an ongoing expense. 
(b)

June
1
Accounts Receivable

1,050



Sales


1,050


Cost of Goods Sold

566




Merchandise Inventory


566


30
Note Receivable—Lesperance 

1,050



Accounts Receivable


1,050
CONTINUING COOKIE CHRONICLE (Continued)

(b) (Continued)

July
31
Accounts Receivable [$1,050 + $7]

1,057




Note Receivable


1,050



Interest Revenue



[$1,050 x 8.25% x 1/12]


7

Aug.
10
No entry


31
Cash

1,064



Interest Revenue




[$1,050 x 8.25% x 1/12]


7




Accounts Receivable


1,057
	BYP 8-1 FINANCIAL REPORTING PROBLEM


(a)

	($ in thousands)
	2006
	2005

	Receivables 

turnover


	= 17.7*

	

$985,054

[($58,576 + $36,319) ÷ 2]
= 20.76 



	Average 

collection 

period
*Given in text
	= 20.6 days*

	365 days = 17.6 days

  20.76

	Inventory turnover
	= 2.7**
	

$651,158

[($278,631 + $258,816) ÷ 2]
= 2.42



	Days to sell inventory
	135 days**
	365 days  = 150.8 days
    2.42

	**From Chapter 6

Operating Cycle
	20.6 days + 135 days

 = 155.6 days
	17.6 days + 150.8 days
 = 168.4 days


BYP 8-1 (Continued)
(b) Overall, operating cycle has decreased by approximately 13 days which is a positive indicator. It is taking Forzani’s 155.6 days to purchase its inventory, sell it and collect the cash on sale. Average collection period has increased from 17.6 days to 20.6 days, an increase of three days. The number of days to sell inventory has decreased from 150.8 days to 135 days,   a decrease of more than 15 days. It would appear that Forzani’s is managing their inventory more efficiently which has resulted in the decrease in number of days to sell inventory and overall operating cycle.
	BYP 8-2 INTERPRETING FINANCIAL STATEMENTS


(a)


	($ in thousands)
	2005
	2004

	Current ratio
Industry:

 1.45 :1
	$1,916 ÷ $1,935 

= 0.99:1


	$1,195 ÷ $1,409 

= 0.85:1

	Receivables turnover

Industry: 7.3


	
$9,749

[($1,139 + $627) ÷ 2]

= 11.04

	
$8,270

[($627 + $505) ÷ 2]
= 14.6

	Average collection period

Industry: 50 days
	365 ÷ 11.04 =

33 days
	365 ÷ 14.6 =
25 days



Suncor’s current ratio has improved from 0.85:1 (2004) to 0.99:1 (2005). However, its current ratio is lower than the industry average of 1.45:1. 
Suncor’s receivable turnover and average collection period have deteriorated from 14.6 times or 25 days (2004) to 11.04 times or 33 days (2005). Suncor’s accounts receivable turnover and average collection period are much better than the industry average of 7.3 times or 50 days.  This could be attributed to Suncor’s securitization program.
BYP 8-2 (Continued)

(b) The gross accounts receivable has increased significantly (125%) over the 2-year period. Given that the dollar amount of the allowance has not changed it would represent a higher portion of gross accounts receivable in 2003 than in 2005. It may be more relevant for the company to determine a percentage of receivables that it deems doubtful each year and adjust the balance in the doubtful accounts by recognizing a bad debts expense annually. However, the company may have identified specific accounts that are doubtful, which may be the reason why the balance has not changed from year to year.

(c)
By regularly selling its accounts receivable, Suncor is able to more quickly convert receivables into cash. The company may have determined that the fees associated with selling the receivables are less than the cost of having to use short-term borrowings to finance operations. As well, the company may also not want to bother with the cost and effort required to bill and collect the receivables and would rather sell the receivables and let another company deal with these issues. 

	BYP 8-3 COLLABORATIVE LEARNING ACTIVITY


All of the material supplementing the collaborative learning activity, including a suggested solution, can be found in the Collaborative Learning section of the Instructor Resources site accompanying this textbook.

	BYP 8-4 COMMUNICATION ACTIVITY


Memorandum

To:
Management

From:
Student

Re:
Management of the credit function

During the year Toys for Big Boys has experienced a significant increase in sales due to the efforts of the sales staff. However, it is important that the sales staff be aware that, in order for the company to generate the cash it needs to continue operations, it is essential that Toys for Big Boys be able to generate cash from these sales. Cash is needed to pay for the inventory the company has purchased and to cover other operating expenses such as sales commissions.

Over the past year, the company has noticed a trend whereby the sales have doubled, accounts receivable have quadrupled and cash flow has halved. By allowing sales staff to assume the role of managing the credit function it appears that they have become too focused on sales without considering the quality of the sales and the ability of the customer to pay the receivable within a reasonable period of time.

Given the increase in the accounts receivable, it is likely that the company has now assumed additional credit risk. The longer a customer takes to pay, the more likely that he will default on the receivable. 
BYP 8-4 (Continued)

The selling staff has been placed in a conflict of interest position. While it is in their best interest to stimulate sales, this may deter them from performing adequate credit checks. To improve this process I would recommend using a separate credit department to evaluate the credit worthiness of all potential credit customers. If the sales staff is opposed to this recommendation, at the very least a set of specific criteria should be developed which would ensure that the selling staff only grant credit to those customers who meet the company’s credit standards.

	BYP 8-5 ETHICS CASE


(a) The stakeholders in this situation are:

The president of Proust Company

The controller of Proust Company

The company’s bank

Any other parties who rely upon the company’s financial statements.

ADVANCE \d6(b)
Yes. The controller has an ethical dilemma—should he/she follow the president's “suggestion” and prepare misleading financial statements (understated net income) or should he/she attempt to stand up to and possibly anger the president by preparing a fair (realistic) income statement.

ADVANCE \d6(c)
Proust Company's growth rate should be a product of fair and accurate financial statements. One should not prepare financial statements with the objective of achieving or sustaining a predetermined growth rate. The growth rate should be a product of management and operating results, not of “creative accounting”.
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